
RSPT 1050 – Module B: Practice Problems 
Express compliance problems in mL/cm H20 and L/cm H20 
 

1. Given a tidal volume of 400 mL and a pressure of 50 cm H20, calculate 
the compliance. 
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2. Given a tidal volume of 300 mL and a pressure of 35 cm H20, calculate 

the compliance. 
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3. Given a tidal volume of 800 mL and a pressure of 10 cm H20, calculate 

the compliance. 
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4. Given a tidal volume of 600 mL and a pressure of 30 cm H20, calculate 

the compliance. 
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5. Given a tidal volume of 700 mL and a pressure of 60 cm H20, calculate 

the compliance. 
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6. Given an inspiratory flowrate of 500mL/sec, and an inspiratory time of 0.6 

seconds, calculate the tidal volume. 
mLmL 30060500 =× sec.sec  

 
7. Given an inspiratory flowrate of 0.1L/sec, and an inspiratory time of 0.6 

seconds, calculate the tidal volume. 
mLLL 600606010 ==× .sec.sec.  

 
8. Given an inspiratory flowrate of 300mL/sec, and an inspiratory time of 0.8 

seconds, calculate the tidal volume. 
mLmL 24080300 =× sec.sec  

 



9. Given an inspiratory flowrate of 400mL/sec, and an inspiratory time of 1.0 
second, calculate the tidal volume. 

mLmL 40001400 =× sec.sec  

 
10. Given an inspiratory flowrate of 150mL/sec, and an inspiratory time of 3 

seconds, calculate the tidal volume. 
mLmL 45003150 =× sec.sec  

 
11. Given a flowrate of 1.2 L/sec and a pressure of 40 cm H20, calculate the 

airway resistance.  
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12. Given a flowrate of 0.8 L/sec and a pressure of 50 cm H20, calculate the 

airway resistance. 

sec
.

sec. L
OcmH

L
OcmH

V

PRaw
22 562

80
50

==
∆

= •  

 
13. Given a flowrate of 1.3 L/sec and a pressure of 30 cm H20, calculate the 

airway resistance. 

sec
.

sec. L
OcmH

L
OcmH

V

PRaw
22 123

31
30

==
∆

= •  

 
14. Given a flowrate of 0.6 L/sec and a pressure of 25 cm H20, calculate the 

airway resistance. 
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15. Given a flowrate of 1.2 L/sec and a pressure of 15 cm H20, calculate the 

airway resistance 
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